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General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the instructions carefully.

l Read the questions carefully before answering.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.

https://ditto.ws
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Answer all questions from 1 to 8.

Each carry one score.

1. The word philosophy is first

coined by .........

2. Identify the given proposition

'A student is not both a hosteler

and a day scholar at the same

time'.

a) Conjunctive

b) Implicative

c) Disjunctive

d) Alternative

3. Reduce the following sentences

to logical form :

'Inmates alone are admitted'.

4. The statement, "good people die

young" is an example for .........

a) nonobservation of essential

circumstances

b) individual malobservation

c) nonobservation of instances

d) universal malobservation

1 oOf¤ 8 vRqpOtt IsæL S\Lh|°tOU

D¾qRouOfOW. 1 yVSWL¡ v}fU.

1. f¾~wLyVNfU IÐ vL V̈ Bh|oLp]

DkSpLY]\ÿfV .................... BeV.

2. fÐ]q]¨OÐ RNkLÕy]xRj

f]q]\ÿr]pOW.

'A student is not both a hosteler

and a day scholar at the same

time'.

a) W¦^UYVã}vV

b) CUkæ]S¨ã}vV

c) c]yV^¢WVa}vV

d) B¥Ÿ¡Sjã}vV

3. fLRu fÐ]q]¨OÐ vLW|R¾

fL¡¨]W qPk¾]Ss¨V \OqO¨]

IuOfOW.

'Inmates alone are admitted'.

4. ""jsæ ojOx|¡ SjqS¾ oq]¨OU''

IÐ NkyVfLvj ................. jV

DhLzqeoLeV.

a) SjL¦&KmVy¡Svx¢ KLlV

Iô¢x|¤ y¡WUð¢yV

b) C¢c]v]^~¤ oL¤&

KmVy¡Svx¢

c) SjL¦&KmVy¡Svx¢ KLlV

C¢ð¢yyV

d) pPe]Sv¡y¤ oL¤&

KmVy¡Svx¢

(8 × 1 = 8) (8 × 1 = 8)
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5. The word 'causality' is originated

from the Latin word ........

6. Identify the thinking process in

which we begin with particular

facts and proceed to general law.

7. ........... is a tentative explanation

for the observed facts.

8. Choose the symbol for negation

from the following :

a) ⊃
b) ∨
c) ≡
d) ∼

Answer all questions from  9 to 13.

Each carries two scores.

9. Obvert the following

propositions :

a) Some leaders are graduates.

b) All roses are red.

10. Write the characteristics of

scientific observation.

5. sLã]¢ khoLp ............. ¤ j]ÐLeV

"SWLyLs]ã]' IÐ vL¨V

Bv]¡nv]\ÿfV.

6. NkSf|W vyVfOfWt]¤ j]ÐOU

RkLfO j]po¾]Ss V̈ I¾]S\ÿqOÐ

\]ÍL NkNW]pRp f]q]\ÿr]pOW.

7. j]q}ƒ]\ÿ vyVfOfWRt¨Or]\ÿV  Dtt

fL¤¨Ls]W v]wh}WqeoLeV ......... .

8. fLRu fÐ]q]¨OÐvp]¤ j]ÐOU

RjSYxR£ \]øU RfqR´aO¾V

IuOfOW.

a) ⊃
b) ∨
c) ≡
d) ∼

9 oOf¤ 13 vRq IsæL S\Lh|°¥¨OU

D¾qRouOfOW. KLSqLÐ]jOU 2 yVSWL¡

v}fU.

9. fLRu fÐ]q]¨OÐ RNkLÕy]xjO

WRt KmVSv¡ŸV R\áOW.

a) Some leaders are graduates.

b) All roses are red.

10. wLyVNf}p j]q}ƒe¾]R£

yv]SwxfW¥ IuOfOW.

(5 × 2 = 10)
(5 × 2 = 10)
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11. List out the four types of causes

explained by Aristotle.

12. State the features of Barren

Hypothesis.

13. Write the difference between

primary and secondary data.

Answer any four questions from

14 to 18. Each carries three

scores.

14. Write any three laws of thought.

15. Classify the following as

relational, class membership

and general proposition.

a) All students are bachelors

b) Ammu is an artist

c) Ram Nath Kovind is the

president of India.

16. Conversion is an immediate

inference. State the rules of

conversion.

11. Aq]SðLŸ]¤ v]wh}Wq]\ÿ jLsVfqU

WLqe°Rt kŸ]WRÕaO¾OW.

12. mLq¦ RRzSÕLRfy}y]R£

yv]SwxfWRt NkyVfLv]¨OW.

13. NkLgo]W h¾vOU h~]f}p h¾vOU

fÚ]sOtt v|f|LyU IuOfOW.

14  oOf¤ 18  vRqpOtt S\Lh|°t]¤

JRfË]sOU 4 I¹¾]jV D¾qRouOfOW.

3 yVSWL¡ v}fU.

14. JRfË]sOU oPÐV \]ÍL j]po°¥

IuOfOW.

15. fLRu fÐ]q]¨OÐ RNkLÕy]xjO

WRt r]Ssxe¤, WæLôV&RoÒ¡x]ÕV

^jr¤ RNkLÕy]x¢ IÐ]°Rj

fqUf]q]R\ÿuOfOW.

a) All students are bachelors

b) Ammu is an artist

c) Ram Nath Kovind is the

president of India.

16. W¦Sv¡x¢ IÐfV KqO

CÚ}c]pãV C¢lr¢yV BeV.

W¦Sv¡xR£ oPÐO j]po°¥

IuOfOW.

(4 × 3 = 12) (4 × 3 = 12)
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17. Mixed syllogism is devided into

three. Which are they?

18. Categorize the following

statements under the headings

of Method of Tenacity, Method

of Authority and Scientific

Method.

a) Government declares

emergency.

b) Flood is the curse of God's

anger.

c) When heat increases volume

also increases.

Answer any five questions

from  19 to 24. Each carries four

scores.

19. Complete the given flow chart.

17. o]WVycV y]SsL^]yR¾ oPÐLp]

fqU f]q]¨OÐO. Av Jv?

18. fLRu fÐ]q]¨OÐ NkyVfLvjWRt

RoS¾¡cV KLlV RajLy]ã],

RoS¾¡cV KLlV ASfLr]ã],

yp£]l]WV RoS¾¡cV IÐ}

v]nLY°t]sLp] v¡«}Wq]¨OW.

a) nqeWPaU Aa]pÍ]qLvò

NkX|Lk]\ÿO.

b) RRhvSWLkoLeV vq¥\ÿpV¨V

WLqeU.

c) \PaVWPaOSÒL¥ v|LkVf] WPaOÐO.

19  oOf¤ 24  vRqpOtt S\Lh|°t]¤

JRfË]sOU 5 I¹¾]jV D¾qRouOfOW.

4 yVSWL¡ v}fU.

19. fÐ]q]¨OÐ lVStL \L¡ŸV

kP¡¾}Wq]¨OW.

(5 × 4 = 20) (5 × 4 = 20)

PHILOSOPHY

......a...... Epistemology

(What is real?) (What is value?)

Logic
(Correct reasoning) EthicsOntology

↓
↓↓↓

......b......

↓ ↓ ↓ ↓
......d......

......c......

......e......

↓
Beauty

↓
......h......

↓
......g......

↓
......f......
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20. pPtrORa y¡¨]t]R£ yzLp

S¾LRa AEIO RNkLÕy]xjOWt]Rs

kh°tORa v]fqeU \¡\ÿR\áOW.

21. wLyVNf}p j]Yoj°t]Ss¨V

I¾]S\ÿqOÐf]jOtt KqO q}f]pLeV

kq}ƒeU. kq}ƒe¾]R£ SoÓW¥

WLe]¨OÐ \L¡ŸV fáLrL¨OW.

22. "yVW~p¡ KLlV KÕy]x¢' vq\ÿV

RNkLÕy]xjOW¥ fÚ]¤

j]sj]¤¨OÐ "r]Ssx¢ KLlV

KÕy]x¢' AapLtRÕaO¾OW.

23. wLyVNf¾]R£ JRfË]sOU jLsV

yv]SwxfW¥ IuOfOW.

24. fLRu fÐ]q]¨OÐ y]SsL^]y¾]Rs

So^¡ SaU, o]c]¤ SaU, RRoj¡ SaU,

oPcV IÐ]v WRº¾] IuOfOW.

20. Discuss the distribution of

terms in AEIO propositions with

the help of Euler's circle.

21. Experiment is a method for

reaching scientific conclusions.

Prepare a chart showing the

merits of experiment.

22. Draw 'square of opposition' and

mark the 'relation of opposition'

existing between propositions.

23. Write any four characteristic

features of science.

24. Find the major term, middle

term, minor term and mood of

the given syllogism.

All Russians are revolutionaries

All anarchists are revolutionaries

∴∴ All anarchists are Russians
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Answer any two questions

from  25 to 27. Each carries five

scores.

25. Illustrate J. S. Mill's Method of

Difference.

26. Discuss the characteristics of a

good hypothesis.

27. Logic is applied in every walk of

our life. Describe the utility of

logic.

Answer question numbers 28 and

29. Each carries six scores.

28. Truth table is the logical device

to demonstrate all possible truth

values of compound statement.

Construct truth table for

disjunction, conjunction and

implication.

29. The first step of research is

selection of the problem.

Explain other steps.

25  oOf¤ 27  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

5 yVSWL¡ v}fU.

25. R^.IyV. o]sæ]R£ RoS¾¡cV KLlV

c]lr¢yV IÐ ASj~xe q}f]

DhLzqe yz]fU v]wh}Wq]¨OW.

26. KqO jsæ RRzSÕLRfy}y]R£

yv]SwxfW¥ \¡\ÿR\áOW.

27. jÚORa ^}v]f¾]R£ IsæL

SoXsWt]sOU f¡¨ wLyVNfU

NkSpL^jRÕaOÐO. f¡¨wLyVNf

¾]R£ DkpO©f v]vq]¨OW.

28 DU 29 DU S\Lh|°¥¨V  D¾qU

IuOfOW. 6 yVSWL¡ v}fU.

28. yUpO© NkyVfLvjWtORa wq]

oPs|°Rt (NaP¾V vLs|O)

Rft]p]¨OÐf]jOtt KqO fL¡¨]W

DkWqeoLeV NaP¾V Sam]¥.

c]yV^UYVx¢, W¦^UYVx¢,

CUkæ]S¨x¢ CvpORa NaP¾V

Sam]¥ j]¡Ú]¨OW.

29. YSvxe¾]R£ Bh| ZŸoLeV

NkwVj¾]R£ RfqR´aOÕV.

YSvxe¾]R£ oãO ZŸ°¥

v]wh}Wq]¨OW.

(2 × 5 = 10) (2 × 5 = 10)

(2 × 6 = 12) (2 × 6 = 12)
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Answer any one from question

numbers 30 and 31, which carries

eight scores.

30. The validity of a syllogism is

based on certain rules. Explain

eight rules of a categorical

syllogism.

31. A categorical proposition has

definite structure. Explain the

structure and discuss traditional

classification of proposition.

30 DU 31 DU S\Lh|°t]¤ JRfËsOU

KÐ]jV D¾qRouOfOW. (8 yVSWL¡)

30. y]SsL^]y¾]R£ yLiOf \]s

j]po°¥ Aa]òLjoL¨]pOtt

fLeV. WLãSYLr]¨¤ y]SsL^]y

¾]R£ IŸV j]po°Rt

v]wh}Wq]¨OW.

31. KqO WLãSYLr]¨¤ RNkLÕy]xjV

v|©oLp ZajpOºV. ZajRp

v]wh}Wq]\ÿV kOqLfj q}f]p]sOtt

RNkLÕy]xR£ v¡«}WqeU

\¡\ÿR\áOW.

(1 × 8 = 8)
(1 × 8 = 8)




